Enrollment No: Exam Seat No:

C. U. SHAH UNIVERSITY

Summer Examination-2022

Subject Name: Macro Economics -2
Subject Code: 4AAH0AMAE1 Branch: B.A. (Economics, History, Gujarati)
Semester: 4 Date: 10/05/2022 Time : 11:00 To 02:00 Marks : 70

Instructions:
(1) Use of Programmable calculator & any other electronic instrument is prohibited.
(2) Instructions written on main answer book are strictly to be obeyed.
(3) Draw neat diagrams and figures (if necessary) at right places.
(4) Assume suitable data if needed.

Attempt the following questions (14)
What is the shape of the Keynesian Aggregate Supply before the level of full employment is

attained? AYQL AU} 2R Ylict Al A UdEl FaARast W32 Al SR g B?
(A) Perfectly inelastic Y@l A RA(RUuUS

(B) Perfectly elastic dyQl RAQRuUs

(C) Unitary elastic astc1s RA(AeUUs

(D) More elastic ay RAlAeuus

According to classical economists, real wage rate is _ to the Marginal Productivity of
Labour. scllRscd wdaua{lalloll Ha, dirdlds Adet €2 HYRell AHid Gaulesdl W2 B,
(A) Equal 4Htet

(B) More ay

(C) Less et

(D) None of these auHiell 51¢5 o8l
What is the cause of Keynesian perfectly elastic Aggregate Supply curve?
FARUt AYLl RARAUUS ASER YRaASL dnise] 510 9 B2

(A) Wage price rigidity Actot (5Hctoll 5812l

(B) Constant Marginal Product of Labour $tHoj dcct f{Hid Geuleat
(C) Both of these il ¢ial

(D) None of these wHiel 518 gl

What will be APC when APS = 0?

APS =0 &l IR APC g &2

(A) One s

(B) Zero 9o

(C) Two &

(D) Infinite oict

If the income is Rs. 400 crores and consumption is Rs. 250 crores, what will be the APC?
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%l ulas Rs. 400 530S 8 ual cAURI Rs. 250 $2AS 8, Al APC 9 832

(A) 0.67
(B) 0.63
(C) 0.60
(D) 0.58

Suppose in a hypothetical economy, the income rises from [J 5,000 crores to [ 6,000 crores. As a
result, the consumption expenditure rises from [ 4,000 crores to [1 4,600 crores. Marginal
propensity to consume in such a case would be

U ¥ stieulls wddaul, vas Rs.5,000 A5l ctllal Rs.6,000 55 a2l . WERUR, cuRial wal

Rs.4,000 5As&ll ctllal Rs.4,600 $AS U B, lcll (BuML Guelal scllell st gl &
(A) 0.8

(B) 0.4

(C) 0.2

(D) 0.6

Which among is the direct tax? &l 52 s &?

(A) Income tax ulclsARN

(B) Gift and Corporation tax @2 e sluRalet 52

(C) Wealth tax Acad 25

(D) All of these &4l dHLH
Who is the author of the book ‘General Theory of Employment, Interest, and Money’?
oot Qa3 Ay ArclaNoe, o2 Wos Holl” Yrelsell Auls Sl B2

(a) A.C. Pigou A.C. ol

(b) Malthus Hlca

(c) J.M. Keynes %3, $lodt
(d) Marshall Huglet

Keynes theory was developed in. 3o Qa1 [Qsixt Al ocll

A. 1939
B. 1940
C. 1935
D. 1936
In Classical theory the level of employment is a function of :

sAlRsA RglcMi A%dURe] AR s 512l B:
A. Price level eital R
B. Money wage rate oilall dctel €3
C. Quantity of money Ulell %2l
D. Real wage rate clikd[ds Adlet €3
Inflation is measured by . $ouUcl GlRL HIUAUHL A B.
A.Consumer price index GUelsAll @Lal YAUSLS
B.Wholesale price index es2aloitt et yusis
C.Marshall’s index H12lc 8od5

D.None of the above GURlscuiell S1¢5 o1l
The macroeconomic models that are most supportive of the role of government policy aimed
atsmoothing business cycles are cAlUR Asal U wlatlclcllall ddell U131 Aol ¢@stal Alell
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ay uslas Al Al 85lllls WS ©

A. real business cycle models. dikdA(Qs [ABaU WaASH HSC.
B. endogenous growth models. sicteid ¢& Hsc.

C. Keynesian models. 3alRaist 1Sc.

D. growth models. ¢(& st

In a boom: A:

A. Unemployment is likely to fall A1ou3l uacloll sl 8
B. Prices are likely to fall ellal «ecllell sl B

C. Demand is likely to fall #iotHi LSl aciell Aedctsl B

D. Imports are likely to fall a2l ©als) actsll Al B
Industries that are extremely sensitive to the business cycle are the
UUR Us YA ARid dAeatelld Aal Gl B

A. durable goods and service sectors. 251G HIA wal Aal A

B. nondurable goods and service sectors. (Aot 2516 Ml ol Acll &AL

C. capital goods and nondurable goods sectors. 3[Q2A 95U Wal ollolsYRGIA OJsU AseR.
D. capital goods and durable goods sectors. 3(02c 93U WA SYRHUEA JsU As2R.

Attempt any four questions from Q-2 to Q-8

Q-2

Q-3

Q-4

Q-5

Q-6

Discuss the Employment theory of J.M. Keynes.

B AU, Slodtoll AR Rgicell uul 5.

How does the theory of employment of Keynes superior to the classical theory of employment?
$tortoll AR Rgict ARl SAURSA Rsicd sl 3l A A B2

Discuss the wages cut theory of pigue. Give its limitations.

[Qotetl Adet stustl Rgictoll uAl 5A. Aoll Halel 2.

Compare and contrast the Classical and Keynesian Theory of income, output and employment.

Ulas, WGaye Aol ARl sARSAH WA JalRAet Q2AIlell deteil 5A Al Aottell [QURA s3A.
Explain the good effect of inflation and the vicious circle of inflation.

gollallol AR AR el Pollcllell £ dfna UMl

Give the meaning of the trade cycle. Describe the stages of the trade cycle.

AUR Usoll AW AU AUR Usell dAoissAlej cllat 531

Short Note g5l olltd

Explain the good effects of inflation.

gollellofl A3 A UHAA

Compare trade cycle theory of Prof. Hawtrey and Prof. Hayek

Yl 82 Al UL lAsell AUR As Rsicell detelt 5
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